PN F28EEREFERNRTYMR—ILFTAKRS F—L%& 10| 2Q|3a|4Q |EE| &5t
# A H30.2.10 = 15 BEERZE HaNe | N\ E | 27|35 ]| 18] 28 108
* # KA EF | Bl & FRF ER c6 = 2l 8| 9| 17| 11 45 'gf 8 5@ —— \E ——Et
NEFEEZEH (ER) 120
I—F BK 8% A-d—F EH £RA IR r—
Bl go [ BR A b]2R AP [ Ty—28= [ 7] UNIIE L 108
BRFENEIBR gy T ae | ko | B8 | %9 | %8 | 2 [oF|oF &5 /44
B BhkEx 4 20 0 2 9 15 2 2 2| 2| 2 4 (97 100
T BEE | 5 14 0 3 7 14 0 2 | 2] 1| 6| 7 /
AH KE 6 21 0 0 10 12 1 1 ol 3] 3 6 / 90
&EH EF 7 20 3 7 3 7 5 7 1| o 4 4 86
nyE = 8 5 1 2 1 5 0 0 o] of 2 2 8 80
B EMTF 9 9 1 1 3 6 0 0 3] o] 3 3 76
B R"E 10 0 0 0 0 2 0 0 ol 1] o 1 A
RE 11 7 1 1 1 3 2 3 | ol of 2] 2 5o
MmE B8 12 2 0 0 1 2 0 0 3| 1] 4 5 /(6’1"‘37‘
BA YA | 13 4 0 0 2 3 0 0] o] o] o] o / 60
Rk 14 2 0 0 1 2 0 0 o] of 2 2 53
ERK BE | 15 2 0 0 1 1 0 0 1] o] o 0
e /i 16 0 0 0 0 0 0 0 1 ol o 0 43 » 45
Bl 3 17 2 0 0 1 1 0 0 0] 0] © 0 / - 39 40
= 18 0 0 0 0 0 0 0 o] ol o 0 /35 i
F — A ol 3] 6 9 /2; /
& & 108 6 16 40 73 10 15 | 13| 11| 34| 45 77 e 28
BTIE 37.5% 54.8% 66.7% 9 7 20
14 »—1-9*\'3/17
Rt LT A1
a—F NG FE Aa—F WE EE TRUv— B L 7 At
. g0 SR A v b 2K 4v | TJU—28— 7] UNHUF 67 N
B OF % E 25 ) o E - o E ) =% | 2 [or [oF [ B 0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40%)
BN Hit 4 9 0 3 4 7 1 2 0| 1] 10] 11
FE RNDE | 5 13 1 6 4 10 2 2 | o] 2] 6] 8 e =g
BT 7% |6 B &
£k T 7 5 0 0 2 7 1 4 1| 3| 6 9 BF—LEBLN—TIY—TRE—F, 15 ERYNSNERFORILG/NTOAH
e 3 4 0 5 2 4 0 0 o of 1 1 NAUFARRDLIZEAZERD, ETFIINEOEWTAIIVAESSICHED
&I EF 9 4 0 2 2 6 0 0 3] o] 2 2 ZoMTEDMIDT . WHH< 1D, \NEFENTAITTVANLEKEEFE427—8T
HEH BEHE | 10 1Q#8 T, 2QIFFB MO B EN a— A RESEVDERIH ELFEIAILT IR
R EIES 11 8 0 1 2 6 4 4 2| of 1 1 %B.OFBDL1—FDREINEISENT AP ULBREZATHUAMLT IR,
Bk & 12 ZORNETQEHDI KA OTIEEN AV ARATUX BLNT(TT
PHE EF 13 2 0 1 1 3 0 0 ol of 1 1 DADLDRBGEETHREER. 62— 17LKE)—FT 5,
X% 0 14 QIR ER. ETFIIOEEDIRA UV OTAITIVANLDERR THRNEEZ
EO ERY 15 ESERHABIMN, 2EDINSARYU T TEDFNEDINDT . NBELBEEICEHZE
EE BX 16 0 0 0 0 3 0 0 11 ol 1 1 13.80—34TH T AQIZA>TERNEDHLT , WK, IR/L, SRAVMEETNE
EE KB 17 0 0 0 0 0 0 0 ol ol 1 1 M108—4A5THF, ERBELEROT=,
28 FF 18
F — A 1| 2] 3 5
P B 45 1 18 17 46 8 12 8| 8| 32| 40 =
AThEE 5.6% 37.0% 66.7% RAE RIF R




